BHS Safeguarding

Safeguarding for Equestrians — Quiz Answers - Scotland
.

1.

There are eight well-being indicators; safe, healthy, achieving, nurtured, active, respected,
responsible, included (SHANARRI).

Can you give an example of a child well-being concern that would have a negative impact
on a child's welfare in sport? For example bullying.

Poor practice happens when a participant is placed at risk of harm or abuse.

Can you give an example of poor practice in sport? For example a coach shouting at the
participant.

There are four types of child abuse, which one of the four child protection categories is
more prevalent?

Physical abuse

Neglect

Emotional abuse

Sexual abuse

Answer — Emotional Abuse

In Scotland, how many Children were on the Child Protection Register in 20197

- 2599

- 4300

- 1578

Answer - 2599

From SCRA (Scottish Children’s Reporter), 2019-20, how many children and young people in
Scotland were referred to the Reporter on non-offence (Care and Protection) grounds?

- 4,567

- 12,849

- 6,321

Answer - 12,849 children and young people in Scotland were referred to the Reporter:
= 10,823 on non-offence (care and protection) grounds;

= 2,840 on offence grounds.
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How many Child Protection Orders were granted to address emergency and/or high risk
situations where measures need to be put in place immediately to protect a child or young
person — SCRA (Scottish Children’s Reporter), 2019-20

- 547
- 379
- 987

Answer - 547

In Scotland, what was the most common ground for referral, as recorded by the SCRA,
Scottish Children’s Reporter, 2019-20?

Offence committed against a child

Close connection with person who has carried out domestic abuse

Child’s conduct harmful to self or others

Lack of parental care

Answer - Lack of parental care was the most common ground for referral



